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public class Task03 1{
public static void main (String[] args) {
int numl=0;
int num2=5;
int result=30;
int i;
for (1 =0;i<10;i++)
{
if (i*num2 == result)
{
numl=i;
System.out.println ("HF" + numl +"AJPUE RIS SSL: ™)
System.out.println ("x*"+num2+"="+result) ;

break;

}
if (4 == 10)
{
System.out.println ("EAHFFEERMHTE") ;

}
}
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2. {§FH While 1) LIRS

public class Task03 2{
public static void main (String[] args) {

int numl=0;

int num2=5;

int result=30;

int i=0;

while (1<10)

{
if (i*num2==result)
{
numl=i;
System.out.println ("¥F" + numl +"0 U REMERBSL: ") ;
System.out.println ("x*"+num2+"="+result) ;
break;
}
a4 g

}

if (i==10)

{
System.out.println ("B EERKET") ;

}
}
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public class Examplel3{
public static void main (String[] args) f{
int i,73;
/ /B EAEIR
for (i=1;i<=9;i++)
{
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for (§=1;j<=i;j++)

{
System.out.print (i+"*"+j+"="+ (i*j) +"\t") ;
}
/ / BAT
System.out.println () ;
}
}
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